Street Child (Berlie Doherty)
Chapter 11 – The Spitting Crow
Reading: Listen to our podcast and answer the questions.
1. Explain why Jim can’t stay with Rosie.
2. Which solution was found?
3. List at least 2 pros and contras of the solution they found for Jim’s stay.
4. Explain how the following sentence describes life at the time: “Anywhere would be better than this. […] Drowning would be better than this.” (91)
5. Do you believe Rosie when she says that she lost her job because of her bad cooking? Explain and use evidence from the text.
6. Give your opinion about Rosie‘s story of Emily, Lizzie and the lady from the country side. Guess what you think has happened to the girls. Which evidence from the text did you use?
